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’ Finding Slope From Two Points Date Period____
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Solving Systems of Equations by Substitution Date Period____
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Solve each system by substitution.
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Solving Systems of Equations by Elimination Date Period____

Solve each system by elimination.
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Find the midpoint of the line segment with the given endpoints.
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Find the other endpoint of the line segment with the given endpoint and midpoint. E/Aﬁﬂsm

21) Endpoint: f~1, 9), midpoint: (-9, -10) 22) Endpoint: (2, 5), midpoint: (5, 1)
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27) Find the point that is one-fourth A One endpoint of a line segment is (8, —1).
from (2, 4 —87. The pointtS; is one-third of the way

' from that endpoint to ¢ dpoint.

Find the other endpoint.
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